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Candidate must enter his/her Question Booklet Serial no. (10 digits)
in the OMR Answer sheet.
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Candidates are required to give answer in their own words as far as
practicable.
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Figures in the right hand margin indicate full marks.
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15 minutes of extra time has been allotted for the candidates to read

the questions and follow the instructions carefully.



I8 Ue GRADI & US| H B, WUS—3, Ud WUs—9 |
This Question Paper is divided two section - Section-A & Section-B

QGus—3] ¥ 70 RIS YA 7, N ¥ fH= 35 UeAl &1 Ik <1 Afard

21 35 Ul H 3P BT IR <7 W Y2 35 BT &1 JedIdb BN | U &
fog 1 ofw FEiRa g1 g9@T SR 7 & fou Sude &=~ T OMR

STR-UF% # e T F81 fadbey &I el /®let §7dd U9 0 W8 &y | el

W1 IPR A IR /TR UG/ s /ArgA e OMR SR w=s o

TRINT AT AT &, 31T Tie ufRomd =T 81T |

In Section-A, there are 70 objective type questions out of which any
35 questions are to be answered. If more than 35 questions are
answered, then only first 35 will be evaluated. Each carrying 1
marks. Darken the circle with blue/blue ball pen against the correct
option on OMR, Answer sheet provided to you. Do not use whitener/
Liquid/ Blade/ Nail etc. on OMR Answer sheet, otherwise the result

will be invalid.

Gus—g H 20 Y NI U & | IS & foIg 2 3 MR &, [ A

fpsl 10 UTHl &1 IR <AT Jard 2| g9 IfaRad 59 Wvs H 6 "
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g9} BT SAR AT Sifeard g

In Section-B, there are 20 short answer type questions, each

carrying 2 Marks, out of which any 10 questions are to be answered.



Apart from this, there are 6 Long Answer type Questions, each
carrying 5 Marks, out of which any three Questions are to be

answered.

8. Il UPR & SAFSIH SUBRYT BT TIANT afoid B |

Use of any electronic appliances is strictly prohibited.

Tus—3 (axgfrs uz)

Section - A (Objective Type Questions)

U WRAT 1 ¥ 70 P b ISP U & IR Aepeu U W €, 99 49 v
|E 2| U gRT g7 T fAdhey w1 OMR—3c W faffeqd &3 | fh=gl 35 UeAl &

SR < | (35 x 1= 35)

Question Nos. 1 to 70 have four options, out of which only one is

correct. You have to mark your selected option, on OMR sheet. Answer

any 35 Questions. (35 x 1= 35)
1. o<l ey # o @ de B d6T B HET ST B |
(A) ToT (B) R
(C) Prder (D) feah
The number of attributes in a relation is called the ........ of a relation.
(A) Attribute (B) Relation
(C) Domain (B) Degree

2. & ddy # dfodqal & A= B G B PHET ST 2 |



(A) T (B) Rt

(C) ®rders (D) f&h

The number of rows in a relation is called the ......... of a relation.
(A) Cardinality (B) Relation

(C) Domain (D) Degree

ST & HY SATERVT ... g |

(A) amg &1 TF €1 4 2 GEREE]

(C) g TR Vel (D) SR @& &l

Some of the example of databases are ..........
(A) IBM DB2 (B) Oracle

(C) My SQL (D) All of the above

................ Al W Ufiey &, S MaeIshdisl & PR WR Sy H |

BId 2|
(A) ThBT (B) ufcreier
(C) Tor (D) s | ®Ig A1 7l

............ are restrictions on the values, stored in a database based
on the requirements.
(A) Method (B) Constraints

(C) Properties (B) None of the above

ARG Afsel § d1Emell & SeeNo 7T § 2

(A) SH q1en (B) g= e



(C) 31E SREsar amwn (D) R & &l
What are examples of Constraints in relational models ?
(A) Domain Constraints (B) Key Constraints
(C) Entity Integrity Constraints (D) All of the above
Holl qrerRll & IETERV /T 7 7

(A) G Eoh (B) SHfigar gl

(C) wrrffies it (D) R & A

What are the examples of Key Constraints ?

(A) Super Key (B) Candidate Key
(C) Primary key (D) All of the above
..................... U Hag ¥ faRaRll w1 e de ®, e fog ddg Refa A

fel o < cwhUed H A BT HAM WIS A8l 8Tl ¢ |

(A) G Eoh (B) SHfigar ol

(C) urarfde il (D) 3R & |4l

............ is a set of attributes in a relation, for which no two tupples
in a relation state have the same combination of value.

(A) Super Key (B) Candidate Key

(C) Primary key (D) All of the above

............ Holl dTferdT ¥ IrexmEr Bl 9 H Aaq PRl & |

(A) GuR Boil (B) S®flgar ol
(C) urarfde it (D) 3R & |4l



10.

11.

........... Key helps to Protect duplication in the table.
(A) Super Key (B) Candidate Key

(C) Primary key (D) All of the above

........... U 99T & SrgeT IuaT RDBMS & IU8Id Scl &l Ydfd & &

foru fovar <rdr 2 |
IVNEERG (B) €1 wH ud
(C) T8 &g ud (D) 379 & 1g ol 7

....... Is a language that is used to manage data stored in a RDBMS.
(A) DDL (B) DML

(C) SQL (D) None of these

STV RIed &1 dRer W Wd $RT @1 avdhdl 8kl & iR g4
B Pl ... & ®©F H SIET 7T B

(A) SeTa9 FdR (B) SeTd¥ HSRUT

(C) Sered #ANT (D) 37 & BIE 1 7T

Database system needs to be installed on a computer and this
computer is known as ...........

(A) Database Server (B) Database Storage

(C) Database Memory (D) None of the above

.......... BHHS BT YA SCIA H Uh 5 dlfeldl g9 & oy fhar Sira 2 |
(A) TSI BT TIT BN G EXISERN

(C) 3fraer Henferd & (C) 39T gael



12.

13.

14.

.......... Command is used to create a new table in the database.

(A) Select Command (B) Create Command
(C) Modify Command (D) Alter Command
ACTDBI oo WR I PR B g Ml @1 Ae §

(A) JrER (B) AT

(C) HeMTRIY AR (D) IRk HAR

Protocol are, set of rules to govern

(A) Communication (B) Standard

(C) Metropolitan Communication (D) Wireless Communication
$CRIC B U ?

(A) WANS @1 Hug

(B) Icd® &I Acad

(C) oF &1 g

(D) @991 LANS 3R WANS &1 g
Internet is a ?

(A) Collection of WANS

(B) Network of networks

(C) Collection of network

(D) Collection of identical LANS & WANS

frferRad # & f5a OS| IR WRd W AHAA dTe] el & ?

(A) T3 WRd (B) aRaes wRa



15.

16.

17.

(C) 7cad w=a (D) se1 foids R

On which one of the following OSI layer checksum is not operable ?
(A) Session Layer (B) Transport Layer

(C) Network Layer (D) Data Link Layer

AR R T B ?

(A) ATEER GRET HARR & [Ivg JRefl U &Rl 3

(B) WTgaR JRefT fhdll RieeH &l SR gHell | 9l ©

(C) TSR ReT AIgeR Ifddbaredl & fIvg gR&m Ua™ &l 8
(D) SWRIad a4

What is Cyber Security ?

(A) Cyber Security provides security against malware

(B) Cyber Security protects a system from cyber attacks

(C) Cyber Security provides security against cyber-terrorists
(D) All of the above

HEX GRET IT AEaR GRAT & oD DA © ?

(A) Jfac (B) =

(FEIER IR (D) 3R hRRAT

Who is the father of Computer Security or Cyber Security ?
(A) Robert (B) Charles

(C) Bob Thomas (D) August kerchoffs

ATSER YRET & AWMU DI © 2



18.

19.

(A) fde ¥ (B) a9 209

(C) w2t (D) feu1 gvia—<fr
Who is the founder of Cyber Security ?

(A) Vint Cerf (B) Bob Thomas

(C) Marcian Hoff (D) Tim Berners-bee

fFr=forRad @ | foad, ta afdd & R Afdd a1 998 gRI eV TaR ursT

forar STar 8 ?
(A) UreT HRAT (B) sreareh
(C) T3 (D) ug=™ &I AN

In which of the following, a person is constantly followed/chased by
another person or group of several peoples ?

(A) Stalking (B) Bulling

(C) Pishing (D) Identity theft

FrfeiRed & | f6d dYER @I [RH, STGAT B, g uga a1 T

PR D TN b w9 H aR9INGT fhar mar & — RyeeH, icad a1 S99 el

SITHHRI ?
(A) fopeeramesy (B) fefear gfa
(C) A1gaR gHal (D) BREx JreT

Which of the following is defined as an attempt to steal, spy, damage
or destroy computer system, network, or their associated

information?



20.

21.

22.

(A) Cryptography (B) Digital hacking

(C) Cyber attack (D) Computer Security
AR & qof BT ... g

(NEESRIRESIRCEDN (B) gvia=yul AivedeR
(C) &RT9 HIFCITR (D) gReT &I @RI

The full form of Malware is ............
(A) Multipurpose software (B) Malicious software

(C) Malfunctioned software (D) Malfunctioned of security

AT fha U e HquT GRET AT BT 0T hRd § 7

(A)3 (B) 4

(C)5 (D) 6

In general how many key elements constitute the entire security
structure ?

(A)3 (B) 4

(C)5 (D)6

ATSTHT B IARRJATIS B o ?

(A) fo¥T eraTeed (B) a8 &1 uH

(C) foveImr ATfhA (D) fae1 vIcH
Who was the founder of Linux ?
(A) Linux Torvalds (B) IBM

(C) Christopher Markin (D) Bill Gates

10



23.

24.

TH TH Td BT el BiH ?

(A) IR IR g9 (B) ek B9 H {Red

(C) grfera et (D) IRferd |aR &

Full Form of SSH ?

(A) Server Secure Hub (B) Security in Server Hub
(C) Secure Shell (D) Secure Server Hub

coie & g H FEfoiad § | B9 91 Tad © 7

(A) TAE TP FARC—AAR UM & [TAGT ITINT G AT dR TR
foa Smar 7 |

(B) Jg 3yl RAle Red W AIUCIIR &1 IWIRT IRA I areidfere
U &R T |

(C) SHHBT SYATT BIgall Bl IRAMART B & oIy fHar S FavelT 2|

(D) Tore &1 ST RAe Red 3 &1 39 &=1 & ford fhar S Aaedn
g |

Which of the below is incorrect about Telnet ?

(A) Telnet is Client-Server Program after used to general

(B) It Provides you the Portability of using software on a remote
system.

(C) It can be used to transfer files.

(D) Telnet can be used for logging in from remote systems.

11



25.

26.

27.

forTaT @1 b T B B b U fHd STSIIR BT IMaeIHal 8l & 2
o fey T fawedt ¥ 9 g -
(A) =1E gT2q (B) 1 & I R

(C) Sifc®d (D) EE—TUS YRR

Which hardware component is required by a Linux to function
properly. Select from the options below :

(A) Hard drive (B) CD-ROM Drive

(C) Joystick (D) High-End Processors

geford Sae I URITNT o1 @ fory HTML S &1 ST fhan Sirdr &7
(A) <gfera> (B) <em>

(C) <i> (D) <uE>

Which HTML tag is used to define italic text ?

(A) <italic> (B) <em>

(C) <i> (D) <it>

SIRER TR &I URHINT &_1 & forg feg HTML S &1 SuanT faan

ST 2 |
(A) <gfers> (B) <em>
(C) <i> (D) <z=>

Which HTML tag is used to define emphasized text ?
(A) <italic> (B) <em>

(C) <i> (D) <it>

12



28.

29.

30.

BIc e B URFINT & & forg fig HTML ST &1 STaRT faam Siren
g7

(A) <arT=> (B) <spam>

(C) <wrer> (D) <Bler>

Which HTML tag is used to define smaller text ?

(A) <normal> (B) <spam>

(C) <smaller> (D) <small>

fffed a1 grgeige fby 7Y Cae I aRWRG wv- & forg f&d HTML
ST BT IUANT far Sram 8 2

(A) <fersT> (B) <gTgerrge>

(C) <w> (D) <wrgetrse fdbar Tar>

Which HTML tag is used to define marked or highlighted text ?

(A) <mark> (B) <highlight>

(C) <m> (D) <highlighted>

BCIY Y U6 & A1EgH 9 U Ul &l gRATNT -1 & oy fg HTML
ST B IUANT fpar S1em 8 2

(A) <geri> (B) <ser>

(C) <gern > (D) <& AT 9>

Which HTML tag is used to define strike a line though deleted text ?
(A) <delete> (B) <del>

(C) <deleted> (D) <through>

13



eSSl U TRe Dl IRYINT &=d & forv fbg HTML 237 &1

SYANT fhar Srar & ?

(A) <3fSTetTg> (B) <ure—doirge>

(C) <z> (D) <g=>

Which HTML tag is used to define underline inserted text ?
(A) <underline> (B) <text-decoration>
(C) <u> (D) <ins>

HTML & forg faaforRaa & & @19 &1 9 & ?

(A) HTML 90T )T BT g &l 2;

(B) HTML U&% AM® AI®H3M™ AN & RSTAdT SUIRT RATGTR d99 Yol g4+
@ forg v omar 2 ;

(C) HTMLT@I & U% g | &1 § Sl SISoR &I Al &l g+ & forg
o Smar 7 ;

(D) HTML ¥ SWRIad |41 wfid = |

Which of the following is true for HTML ?

(A) HTML defines the webpage structure ;

(B) HTML is a standard markup language mostly used to generate
web pages;

(C) HTML is made up of a set of elements that instruct the browser
on how to read the content ;

(D) HTML includes all of the above.

14



33.

34.

35.

HTML # DOM (Sf@Rpe sffstae Aisa) a1 € ?

(A) 9TI—+R SIUR—IRT U

(B) ASP.NET 3ifssiac UGTshH
(C) TATHIE URITHT gex®d

(D) HTML &xarast 3ifssiae gfaiada iR gevaR H=<ig

What is the DOM (Document Object Model) in HTML ?
(A) Language-dependent application Programming

(B) ASP.NET object hierarchy

(C) Application Programming interface

(D) HTML document object representation & interaction convention

ASP.NET J9 Uftaid3= § pifepiNe= Afe &I gRyid fear ar 2

(A) Procompiled APP.config (B) M. %T
(C) 99 &I (D) ReA.BI~w

In ASP.NET web application configuration setting are defined in

(A) Procompiled APP.config (B) machine.config

(C) Web.config (D) System.config

ASP.NET J9Us # dwdl @l Afordl &l 98a- & forg o] fafer &1 wer

ST ®

(A) AR U (B) @Isee Uw

(C) HhfST wersa e (D) g &1 U%h-—8

15



36.

37.

The method applied to change the styles of the elements in a
ASP.NET webpage is called.

(A) Master page (B) Child page

(C) Cascading style sheets (D) UTF-8

fhd JhpR B wigel e BT ITINT dReb 89 YR dqdrse H bl I &
el gedl Fehd B 7

(A) TARS Fergerie (B) o189t ergerile

(C) ST e (D) SWRIGd g7 A HIg &l

Using which type of style sheet we can change the style of an
element in the entire website ?
(A) Internet Style sheet (B) External Style sheet

(C) Inline Style sheet (D) None of these above
frfoReag # & @9 a1 99 JR o Rer ure wefRid &xar 8 <

YACTsH R 98l AhdTl 8 ?
AN EENGED (B) Ut dfad
(C) otda (D) SWRIGd g7 A ®Ig &l

Which of the following Web Server control display static text that can
change at runtime ?
(A) Hyperlink (B) Text box

(C) Label (D) None of these above

16



38. ASP.NET dqusl R faemos welRid o=+ & foru fd da |qdr g=or &1
SUANT ST & ?
(A) Bfa (B) gy
(C) U9 (D) Ad Rotater
Which Web Server control is used to display advertisements in
ASP.NET a Webpage ?
(A) Picture (B) Image map
(C) Pannel (D) Ad Rotater
39. Reri® &9 AT fby o & ?
(A) ReRiep Blas (B) # MUrR 1 aRHIMT PN
(C) T &R 41 gt (D) s & @I Tl

How the constants are declared ?

(A) Const Keyword (B) # define preprocessor
(C) both (A) and (B) (D) None of these

40.  difdbed AT Bl G2AF B oY DI AT YR Fad UG & 7
(A) ot (B) etz
(C) =i (D) T

Which type is best suited to represent to logical values ?
(A) integer (B) boolean
(C) Character (D) float

41,  FAfaRad 4 A STRTHA—aRATNT USRI $I ggar ?

17



42.

43.

44.

(A) TorT (B) ey

(C) TV IR o g (D) sc

Identify the user-defined types from the following ?
(A) enumeration (B) Classes

(C) both enumeration and classes (D) int

qIsS HYdeN bl dids 8 ?
(A) Wchar (B) Char
(C) Sgat (D) Wchar_t

Keyword of wide character is ?

(A) Wchar (B) Char
(C) double (D) Wchar_t

SR el Yories fafRrs ool fhae a_eR 7 ?

(A) swmaRa oy qorie (B) srewraiRa o qorie
(C) far g (D) s

Signed long int typical range equal to ?
(A) Signed Short int (B) Unsigned Short int

(C) Long int (D) double

fShice ®U A, THH ST YR & Ugel M9 &7 J9 77 & 7
(A)o (B) 1
(C) 2 (D)3

By default, the value of the first name in enum data type is ?

18



45.

46.

47.

(A)o (B) 1

(C)2 (D)3

aRvaer v welie & o wfiffe awar 2

(A) T i

(B) v& R

(C) R HI HARI H Udh HSRUT U

(D) & Tel

A variable is a symbol that represents

(A) A number

(B) A string

(C) A storage location in the computer’'s memory

(D) Nothing

STI UBR int S H NS & F9 Yuries WA B ©

(A) (128 & +128) (B) (—32,768 & + 32,767)
(C) (-6,536 & + 6,536) (D) 31 ¥ PIg 2l

The data type int short consists of all integer in the range of
(A) (-128 to +128) (B) (-32,768 to +32,767)
(C) (-6,536 to +6,536) (D) None of them

U dRITA H HUEIT DRI DT B8 ST &

(A) R (B) wmfEs
(C) qea (D) aifRex

19



48.

49.

50.

The information that is stored in a variable is called as
(A) String (B) Literal

(C) Value (D) Operator

BTN IATINER U ST UHR Pl GAY Scl YBR H gRafdd & 2 |

(A) I (B) 3/

(C) I T 3T & Fhdll & (D) 7IET B8 Fhd
Casting operators convert one data type to another.
(A) TRUE (B) FALSE

(C) Can be true of false (D) Can not say

ON ON (N

frforRad & foog 3fReY & Irg <10 9 910 ddedT 2 |

(A) R HaRspfteT (B) BRI Bict

(C) Sirg R wer (D) €T8Y HRAT

Which operator is having the right to left associativity in the
following?

(A) Array Subsripting (B) Funciton Call

(C) Addition and Substraction (D) Type cast

qfgex ffRex * Udh IRavsrel & uigex & |

(A) & (B) g

(C) & a1 =1 81 Adhdl & (D) TEl Pg Aad
Pointer operator * is Pointer to a variable.

(A) Yes (B) No

20



51.

52.

53.

(C) Can be Yes or No (D) Can not say

S99 (?:) 3ifNER BT 9T HEl Sl & 7

(A) Ferd (B) HegR®
(C) BTRET 3ffRex (D) 3 Reteear

What is this (?:) operator called ?
(A) Conditional (B) Relational

(C) Casting operator (D) Un relational

SIS B TS BT T SYIRT & ?

(A) I8 TSI 99 T Pl Fod~ Folrd H gRafcid e 2 |

(B) I ggarl 99 sifesiae Bl Fea Sffesiae # uRafid w=ar 2 |
(C) Ig WAMFHT & 3MIR TR AR BT gRAfTd B 7|

(D) I Ideral 99 oifesiae &I g~ Farrd # uRafdd a=ar 2 |
What is the use of dynamic cast operator ?

(A) it converts virtual base class to derived class

(B) it converts the virtual base object to derived objects
(C) it will convert the operator based on precedence

(D) it converts the virtual base object to derived class

T BaeF BT SUINT B dIg8 TIRER Dl NARATS BRI T, oo

dd P AMAIHT Bl © 7
(A) 2 (B) 1

(C)o (D) 3

21



54.

55.

56.

While overloading binary operators using member function,

requires ........... argument ?
(A) 2 (B) 1
(C)o (D)3

FefeiRad o 9 @19 &1 |l fdded g ?

(A)TRT = 5, 918 = 0 (B) Tad = 10, 918 = 5
(C) Heheta Ffe (D)Uad = 5, @15 = 5
Which of the following is correct option ?
(A)X=5,Y=0 (B)X=10,Y=5

(C) Compile Error (D)X=5,Y=5

e & 3faa <di 1 H flush () ®BaeE &1 & ?
(A) T gRsil iR fAfdse aRmil &I derer &var g |
(B) ®aa1 fAfdse = &1 wetsr wrar 2 |

(C) 39Yc /3MSCYT IR T Fofe el & |

(D) BIget IHR Bl FeT BT © |

Under Dos in Turbo C, What is the Purpose of flush ( ) function?
(A) Flushes all streams and specified streams

(B) Flushes only specified strem.

(C) Flushes input/output buffer

(D) Flushes file fuffer.

S @ A cdl Al H XrSMgSl () Hae T BRI 2

22
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57.

58.

(A) T8 Iefed e dierr g |

(B) fAfdse M1 # ta aefeod Hedm SeReR dlerd ® |

(C) ¥ & IR W IERBH A1 & AI Udh IEfod A SReR
e B |

(D) frsil fov 71T 9197 99 & 91T U Aefeod S e |

What will the function randomize ( ) do in Turbo C under DOS ?

(A) Return a random number

(B) Return a random number generator in the specified range.

(C) Return a random number generator with a random value based
on time.

(D) Return a random number with a given seed value.

TR DISH & AR Als[g F=T my-array [5], & fog FfaRad & 4
T e fAwed # | U g |

(A) ST (B) ure—Rare
(C) forsil st & dw (D) 374 & PIg Bl
Choose one of the best option from the following position number

contained withn a square brackets e.g. my-array [5], is referred as

........ ?
(A) Sub-Script (B) Post-Script
(C) Elements of an array (D) None of them

U AT Axof Bl HIT ... AET ST © 2

23



59.

60.

(A) T& Sifea (B) srgspias

(C) Xe® (D) (C) 3R (B) =i
One dimensional array is always considered as .......... ?
(A) Complex (B) Sequential

(C) Linear (D) Both C and B

59 IR &1 Rer =nfdd fhar Srar & ar S99 uRY fhar rar @

(A) UgelT Td I &

(B) WITH WA B9 dTeTl ®

(C) 9rum™ &1 HHRI H oS b Sira 2 |

(D) 7 & B1g T

When array that are declared static are initialized as ?

(A) The first element is Zero

(B) Program is about to end

(C) Program is loaded into the memory

(D) None of them

SfA—amaml ARU dTel TH—3MATHT ARV Bl HaT Sl &

(A) gfa—smart =l (B) ag omarl wReft

(C) Tsh T |voft (D) BF—amary axoft
One-dimensional array having two-dimensional arrays is called.
(A) Two-demensional array (B) Multi-dimensional array

(C) One-dimensional array (D) Tri-dimensionall array

24



61.

62.

63.

64.

frdl favy d@ @) ugaE &xd & folU q aRshe &1 JMaIIBAT dTel!
AIfTdaN IT AR BT Bl Sl & 2

(A) THIETHR HaRshes |l

(C) ST |voft

(B) S9a1 Hafshes |xoll

(D) 379 & Bl el

To identify a particular element tables or arrays that require two

subscripts are called.

(A) Multiple subscripted array

(C) Two way array
Bfd BIgel Ry

(A) Y TH <1

(C) faet

Images file formats
(A) PMD

(C) MIDI

SRR

(A) Bfa |drET

(C) 3iffear ursy
JPEG

(A) Image compression
(C) Audio format

TIFF
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(B) Double subsripted array

(D) None of them

CISIEEIERET
(D) St 1 4

(B) GIF

(D) DTP

(B) Bfd Huresd

(D) difsar Hure®

(B) Image Editor

(D) Video editor



65.

66.

67.

(A) Bfd ®BIgal WwY
(C) difsar wIgd W@Hy
TIFF

(A) Image file formats

(C) Video file format

fecHy wfadl fead o+ g § 7

(A) fer
(C) X 3R aw

Bitmap images are made of

(A) Picture

(C) Lines and Curves

Uh Bfd HUTeT GiFcddN © ?

(A) T TR
(C) wieri

Is an image editing software ?

(A) PageMaker

(C) PhotoShop

BICTST HBIgel TR 2 |

(A) 41 wq €
(C) 31 SI 3R

Photoshop file extension is

(B) 3iffear wige wwy

(D) 579 ¥ I3 1 el

(B) Audio file format

(D) None of the above

(B) fUeet
(D) S8 & @I 1 T8

(B) Pixels

(D) None of the above

(B) T TH 9

(D) SR & I

(B) MS-Word

(D) All of the above

(B) 41 <1 <1
(D) ST g T



68.

69.

70.

(A) -psd (B) .pdb

(C) .cdr (D) .gif

SHHT SN Al & i epd & folt F9g fSSige & & forg fhar S
g7

(A) CTgHetTg (B) <rgAR

(C) IEYeRR (D) I &+

This is used for designing the timing for the sequence of the movies.
(A) Timeline (B) Timer

(C) Scheduler (D) All of these

SIS T IR H 98 <ol Ol SWART a9 3R g a9 @ forg fasan

ST 2 |
(A) 3mad (B) MR
(C) 3R (D) 51¥ ¥ I3 el

The tool in the drawing tool bar is used to draw square and

rectangles.
(A) Rectangles (B) Drawing
(C) Shapes (D) None of these

T Folel ¥ I8 faRimar 2, Sl f&sll de¥se R Sidd 6ae o AT ARG
@ oIy Hersd & |

(A) SspHOT (B) T

(C) wra (D) wrfar
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It is the feature in flash, that is helpful for making lively message or
for entertainment in a website.
(A) Transition (B) Animation

(C) Effects (D) Motion

Yuvs—9 /Section -B

e SR 93 (Short Answer Type Questions)
U AT 1 ¥ 20 ofg IR & | fPEl 10 Yl & IR < | TAD U b

forq 2 sf feiRd 2 | (10x2=20)
Question nos. 1 to 20 are Short Answer Type. Answer any 10
questions. Each question carries 2 marks. (10x2=20)
1. STEY WA & IR H 9T B | 2

Discuss about Database consistency.

2. ST HAFYIT 9191 & aR | ==l oy | 2
Discuss about Data Manipulation Language ?

3. ST B & ? ST & fTHRAT Far g 7 2

Who is DBA ? What are the responsibilities of DBA ?

4. 99 FATSC BT URIIT &Y | 2
Define Web Clients.
5. IMAP &7 fowar faRau | 2

Write the expansion of IMAP

. THUHUH T 8 ? 2

(o2}
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Wha is MMS ?
7. HTMLS5 @1 & ?
What is HTMLS ?
8. fywfews HTML T & ?
What is semantic HTML ?
9. U B A= a1 87?
What is Image Map ?

10. QAIWRf2T AR BTl Gfsar Adied &1 ga-n & ?

Compare lossless and lossy video compressions ?
11. |dreq a1 € ?

What is compression ?
12. 9%Tg &7 © ?

What is cleaning ?

13.3—31 UFRRE ¥ IRy g9TE daeiis &l Ieoikd B 2
Mention the special effect technology in 3-D animation ?

14, TG—ITfY A A BT =T ST 8 2

What is the use of self-paced learning.

15. HTML & ShUTSS Pk &Y TS Y ?
How to set Background color in HTML ?

16. HTML<select> dc@ & foIU fShice 919 &1 I &N ?
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21.

22.

23.

How to set default value for an HTML <select> element ?
17. fp arferet & <td> & forw fAf¥ag diss &4 dc Y | 2

How to set fixed width for <td> in a table ?

18.Th HTML §c9 &8 §91U Sl U foid &l avg HH HY ? 2

How to creat an HTML button that acts like a link ?

19. HTMLS5 % $7YC YR ST & oy ©ldgleey A & T PN 22

How to set placeholder value for input type data in HTMLS ?

20. el BHIF 3MEHH D AT B ? 2

How to set full screen iframe ?

e Sa9g 939 (Long Answer Type Questions)

U9 AT 21 W 26 db <" IO YT 2 | fhsl 3 Ul & SN < | UD
@ forv 5 3fw fuiRa €| (3x5=15)

Question nos. 21 to 26 are Long Answer Type. Answer any 3

questions. Each question carries 5 marks. (3x5=15)

HTML 3R CSS &7 SUINT dReb IR—IMAATHR TSI H g0 ?

How to create Non-Recctangular Header using HTML & CSS ?

whicl &R Iy HTML &¥He 9 & 9910 ?

How to create scrollable HTML Comment Box ?
o A o qeefy T B e w2

How to set the SVG background color ?
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24.

25.

26.

HTML J9UST &1 EEHET &I Udh ISTENY Afgd WHs |

Explain the structure of the HTML webpage with an example ?

HHYIC, BH 7 Bl IRIINT B | 99 U DI IR a_16R 971 & v fauforg
P P D UNT T d9 Uol gafRfa v |

Define Frameset, Frame Tag. Divide the web page into four equal parts

each individual part displays different web page.

BIH ST DI IRITIRT B | T guz FR—IF0T BT ITINT T USiarvl I
ISSIERIC

Define Form tag. Desing a Registration page by using all Form controls.
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